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In the previous Shiur we learned that the source of 71°5x "7's
opinion that

NIWw IMT AP WM -

All preparations of 1» may be done on naw is the Posuk;
M7 w1 M rwn ora) - On the eighth day he shall be
circumcised.

The Gemara now seeks to find the source for 7>'n itself that it
may be done on naw.

55717727 191 121 HIR 721 W ROR OV 13270590 R IRD T
naw nmT -

The N5 was only whether 751 *wan override naw, but
everybody agrees that n>n itself is naw nmT.

1911 - what is the source for this?

The x ) offers several suggestions:

RO - 71057 RO IR says it is

»OP Twnb 1257 - A rule Moishe was taught at Sinai.

The xa rejects this approach since we learn that

woympo - saving a life - overrides naw from the following
m 5p. If n>» which is only on a single limb overrides naw,
athreat to the entire body should certainly override naw.
However, 7251m 9mm 5 137 PR - we cannot derive mobn
through a m 5p from a *yon nwnb nbn?

TR - IR - RTIR TYON 127 IR KON - the term MR is used
regarding both 012 and naw, which is a mw 771 indicating
that even naw is a time for 7>,

The xa rejects this approach as well, because nix also
appears in the w19 of > om, which does not override naw.
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5p a7 naw

The Gemara proposes a mw 17 of 72 - 71 - - which is
also written in the nwo of 72 and naw.

T°9a - A

2 75C
2 js)/é

Fakial] A mha
of adults noMm navw

This too is rejected because ™2 is also mentioned regarding
7> 71 of adults, which is not naw M.

nawnams naw ams

Similarly a mw 79w of M7 - MM - - cannot be used, because
m7is also written in the w0 of X3,

SIS - IS
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Therefore, prnx’ 92 1513 27 says we employ a mw 0w of the
three words together.

DIMT I TIND, MNT NN PIT - =y 9 i?:ﬂl 11
Since naw and 75'» are the only two nns» that have all three I

words m72,mR and M7 appear in their oo, we can derive

that 7> may be done on naw. 3)75 C
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NIW12°OR D12 - DPA RIP IOR IR PAY 27N -

In the Parsha of 51 it says - 57 3wa Hm *yipwn ovan. From
the word ora we derive that it may be done even on naw.

wph W rejects this since the term o1 is also used regarding
the mM129p of 1995 o1 - those who need to achieve
atonement in order to become completely W0 - which do not
override naw.

17 7 answers that we use D12 in the context of 7793 *01H
for another 7.

NIWIPORPHW PPV RIP WOR IOR PP’ IARAR 27 -

The word '»nw teaches that it may be done on naw.

The xma rejects this since we need the word *»»w to teach
that the m72 should not be done on the seventh or ninth days.
3P 22770 RN ROR - we go back to the previous answer
offered by jinv ™9, that we learn it from oya.

The X2 next raises the possibility that it would be logical
that 751 should override the naw based on a 1"p. Since 15>»
overrides N33, which overrides 7712y, which in turn
overrides naw, of course, n>1 should override naw.

The Gemara rejects this reasoning, Perhaps, ny73 overrides
7712, not because it's more stringent than n712Y, but because
the 175 who has nyax is not fit to do the nmay. If so, we have
no "p that 75» should be naw nm.

Therefore, we have to go back to ora.
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The R next cites a Braisa which rules - nya3a nR 7m7 non
- The Mitzvah of n%» is performed even if there is a v1 on
the n57v. This is derived from the extra word Jwa in the
Posuk 1157 qwa Sny rpwn ovan,

Here too, the Gemara raises the possibility that it's logical
that 0> should override Ny based on a'p. If n>m
overrides naw which is more stringent, of course it should
override ny73 which is less stringent.

The Gemara rejects this logic, because in a sense nYI3 is
more stringent than N2w, because NYx overrides 772y - in
that if all 03775 have ny7x we do not permit cutting off the
nYI3 to enable somebody to do the 1My - and M2y
overrides naw.

Another line of reasoning could be as follows:

The positive commandment of 75 should override the
negative commandment of n»1% based on the general rule
AWYN RO M7 Y -

A positive commandment overrides a negative command-
ment.

However, we cannot use this logic, because ny33 is both a 18>
AND an 7wy, and

Y VYN R AT VY PX -

A positive commandment cannot override a combined
negative AND positive commandment.

Therefore, we must derive it from the extra word Jwa.

The Gemara points out, although the term Jwa is only used in
the Psukim which speak about the 151 of a baby on the sth
day and the 7 of an adult - one over Bar-Mitzvah, »ax
derives from the mwn 73 of those two cases, that 7>» of a
child older than eight days also overrides ny-z.

The Gemara then cites X217 who says that the term w1 is not
needed to teach that a 15» on the 8th day overrides ny1s,
because he holds that we CAN learn the mm 5p that if 75
on the 8th day overrides naw which is more stringent, it
certainly overrides nyIs.

This frees up the extra word w1 to teach that n5» of a child
more_tban eight days old overrides nyax.
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Similar to the Gemara’s earlier argument, X190 17 questions
R17's premise that naw is more severe than N7 - maybe
nYI% is more severe since it can override 7712y, and M2y
overrides naw.

WK 17 answers that the reason nyx overrides 7712V - which
essentially means that he may NOT cut off the ny73 in order
to do the 72y, is not because NYIx is more stringent than
1712, but because in order to allow him to cut off the nyax
we must employ the rule of Twyn X> 7m7 WY - the positive
mitzvah of 772y overrides the negative mitzvah of removing
the nyaz.

However, nwyn 8> nmT nwy only applies

Y DRI RP IR IPYIT RITYI -

Where the two are done simultaneously -

For example, in the case of n5'», while cutting off the nyz he
is simultaneously performing the mxz» of 751, or in the case
of x’32 ’X5), while wearing the garment and being 721 on
the X5 of 11VYW he is simultaneously 07pn the mxn of X,
However, in the case of ny13 and 772, he first is 921v on the
XY of removing nyx, and only later will he be 0p» the mzn
of nmay.

Therefore, it is only for that technical reason, and not due to
the stringency of ny1%, that we allow ny1% to remain at the
expense of the may.

We must clarify this issue since it has been debated
extensively on this daf.

Of course, Naw is more MM, because NAW is an 7170 NOR,
and NIz is only an 1RS> TR,

On the other hand, ny% has a X n in that it is n7ay M-,
which naw does not. Therefore, we cannot learn one from the
other by way of a1"p, because each one has a X9 which the
other one does not have. However, if we say that im7 nyax
7712Y is not because of X9, but because of a technical issue,
we revert back to the point that naw is inherently an o'
Tmn, and the 1" is effective.

The Gemara cites a Braisa in which we see that this is
actually a 'R0 npoMD.

TWR’ 17 says we need the Posuk Jwa to teach that nmT n>n
nYI3. Obviously he holds that we cannot employ the "5 from
naw, because 7MY NMT NYIX is considered a R

1 17 says we do NOT need the Posuk Jwa to teach that
NIz 7mT 12'», because we CAN employ the v'p from naw,
because 1712y 7M7Y is NOT considered a X, but a
technicality.
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